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Type of charts (subject) main verb object/noun clause

shows

Chart indicates

Graph illustrates

Table describes

Diagram gives the number of...
Presents the proportion of....
show Information on.....

The indicate data on....

Figures illustrate that....

Statistics describe
Give
Present
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Table / chart,

According to the diagram,

As (is) shown in the graph,

As can be seen from the figures,

It can be seen table / chart

We can see from the diagram that...

It is clear / apparent graph
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Company A and company B both had 10%

The profit remained steady at 10%

The profit rose to 10%

The profit peaked at just over 10%

The monthly profit increased / fell by 10% from 10% to 20% to 10%

China had the largest percentage / number (10%/245) of students.

China had 10% of the students.

10% of the students were from china.

Taiwan accounted for 10% of the students.

They made twice / three times / four times the profit percentage / percentage of the profit in
May and in March.

The profit percentage / percentage of the profit doubled / increased threefold from March to

May.

Company A’s profit percentage rose steadily, where as that of company B fell slightly.

There were more males than females (10% and 5% respectively).
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in relation to...
compared with...
twice as high / large / many as....
Three times are high / large / many as....
Double / treble / half the percentage / number of....

Subject + main verb| Adverb of degree Fraction The scale being compared
Company A has Almost A / one quarter| Of the (total) number of (employees)
Nearly Half
Approximately A third
About Three quarters |[As many (employees) as company B.
Just over A quarter |As much (space) as
Half
Three quarters
Twice
Three times




Subject + main verb

Adverb of degree

Comparison word + noun

The scale being compared

Company A has

Almost
Nearly
About
Approximately
Exactly
Precisely

As many (employees) as
As much (space) as
The same  number
Proportion
Amount

Company B.

Of (employees) as company
B.
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a. Verb + adverb
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The number of something + verb + adverb + from .... To..... / between .... And....

Subject Verb indicating changes Adverb Period of time
The number of Increased Suddenly From (June) to (December).
(cars) Jumped Rapidly
Rose Quickly Between (June) and
Grew Dramatically (December).
Went up Significantly
Climbed Sharply
Decreased Steeply
Dropped Steadily
Fell Consistently
Reduced Smoothly
Went down Continually
Fluctuated Stably
Varied Gradually
Slowly
Slightly




Period of time Subject Verb indicating changes adverb
From (February) to (March) sales Increased Slightly
Went up Slowly
Grew Dramatically
Rose Significantly
Declined Greatly
Dropped Sharply
Went down Gradually
fell moderatly

b. Adjective + noun

There + be + a (very) + adjective + noun + in the number of something +

form...to.../between...and...

For one month

For a period of one month
Over the next month
During the next month

There + be Adjective Noun indicating | In what scale | Period of time
indicating changes
changes
There was a (very) Sudden Increase In the number |From (January)
Rapid Jump of (cars) to (February).
Dramatic Rise
Significant Growth Between
Sharp Decrease (January) and
Steep Drop (February).
Large Fall
Marked Decline
Steady Reduction
Gradual Fluctuation
Slow Variation
Small
slight
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The number of (cars sold) remained steady from(June) to (December).

Stayed the same stable between(June)and (December).

There was little
Hardly any change inthe number of (cars sold).
No
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Peaked
The monthly profit reached a peak
The figures a high pint in(December).
The situation bottomed out at(20%).
Reached the bottom
A low point
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195 oolawl adjective clause ;lb.
which + appropriate verb (is/make up/ constitutes/accounts for)
d. Use participial phrases (V-ing)

Making up / accounting for

1



White, which is 53%, is considerably more common than grey, which makes up 11%.
Black, which constitutes 26%, is about four times as popular as blue, which is 8%.

The other colors, which constitute 2%, are considerably less popular than blue (8%).

The other colors, which is 2%, are considerably less popular than blue, accounting for 8%.
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No data are included:

Theft is the most common crime.

Theft is slightly more common than violence.

Theft is just under four times more common than other crimes, excluding violence.

Aside from theft, there are nearly three times more incidence of violence than of other
crimes.

Data are incorporated:

Theft is the most common crime, with 94 cases per 10,000 people.

Theft, of which there are 94 cases per 10,000 people, is slightly more common than
violence (65 cases).

Theft, which accounts for 94 cases per 10,000 people, is just under four times more
common than other crimes (25 cases).

Not including theft, there are nearly three times more incidences of violence (65 cases per
10,000 people) than of other crimes (25 cases).
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No data are included:

Full time employment is the most common type of employment.

Full time employment is considerably more common than part time and casual
employment.

About twice as many people are employed in full time work than in casual work.

Data are incorporated:

Full time employment, which makes up 56.18% is the most common type of employment.
Full time employment (56.18%) is considerably more common than part time (19.24%) and
casual employment (24.58%).

About twice as many people are employed in full time work (just over 50%) than in casual
work, which accounts for about 25%.
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In conclusion,
To conclude,
On the whole,

Connectors to signal conclusion content

In summary, Express the main point of the illustration again in your
To sum up, own words.

In short,

Say something new that does not extend too far beyond
what the illustration shows. You can mention future
implications or draw a conclusion.

Altogether,
5.3.2
Therefore,
Thus, concluded
On this basis, it can be deduced that.....
Given this, may inferred
5.3.3
Table 1, seen
Table, concluded
From figures, it can be shown that.....
the data may estimated
results, calculated
information inferred
5.34
In conclusion we can / may say
Finally, it can / may be said that.....
Lile; 6
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